Geometry Practice G.GPE.B.5: Parallel and Perpendicular Lines 2

WWW.jmap.org

1.

Find an equation of the line that passes
through the point (1, —3) and is parallel to the
line 8x—4y =—4.

[A] 8x—4y =20
[C] 8x—4y =-28

[B] x-3y =4
[D] 8x+4y =—4

Find an equation of the line that passes
through the point (-5, 6) and is parallel to the
line 2x -5y =-5.

[A] —=5x+6y =-5
[C] 2x—5y =-40

[B] 2x+5y =5
[D] 2x—35y =37

. Find an equation of the line that passes

through the point (4, —1) and is parallel to
the line 4x—-y =-1.

[A] 4x+y =-1
[C] —4x-y =-1

[B] 4x-y =0
[D] 4x—-y =-15

Find an equation of the line that passes
through the point (1, —6) and is parallel to the
line 6x+2y =2.

[A] x—6y =2
[C] 6x-2y =2

[B] 6x+2y =-34
[D] 6X+2y =6
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Find an equation of the line that passes
through the point (—4, —5) and is parallel to
the line 7x -5y =-6.

[A] 7x+5y =-6
[C] 7x-5y =-15

[B] —4x-5y =—6
[D] 7x—-5y =-3

Write the slope-intercept form of the equation
of the line passing through the point (-3, 0)
and parallel to the line y = —6Xx+3.

Write the slope-intercept form of the equation
of the line passing through the point (1, —1)
and parallel to the line y = —5x—4.

Write the slope-intercept form of the equation
of the line passing through the point (2, 0) and
parallel to the line y = 2x—2.

Write the slope-intercept form of the equation
of the line passing through the point (5, —1)
and parallel to the line y = 4x—-1.

Write the slope-intercept form of the equation
of the line passing through the point (-6, 0)
and parallel to the line y = 3x—6.
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[7] y=-5x+4

[8] y=2x—-4




